
Confirming a True Arch Radius 
Without templating  
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Unit Width A 

Shoulder Height  
From base sill to point where the arch starts. 

True Radius: height from shoulder to top of arch = half width 
Shallow Arch: from shoulder to top of arch = Cord Height x Total Width (Radius Formula Calc). 

Allow Tolerance Deductions as per recommended guidance. 
If the arch has some distortion, ensure sufficient tolerance is applied to fit, the trim supplied can be 

cut and scribed to accommodate and hide/seal the distortions  

True Radius 

Shallow Radius 
(Cord) 


